ﬁ PROBLEM (P4l Simplifying Expressions

@ 1. Each expression has been simplified or solved one step

at a time. Next to each step, identify the property, COW\biV\iV\g like
transformation, or simplification used in the step. terms is a
a. 4+ 5K +7) JMS"'i‘F(Ca'HOV\
yout Can use ‘FOV
4 + (5x + 35) o step.
bx +4 + 35
5x + (4 + 35)
5x + 39

b. 7x + 4 — 3(2x — 7)

7x +4 — 6x + 21

7x —6x +4 + 21

(7x —6x) + (4 + 21)

X+ 25

c. 4x +3)— 5k —2)

4(x +3) — 5x + 10

4x +12 —5x + 10

4x + —=5x +12 + 10

—X + 22
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